OFFICE OF THE EXECUTIVE ENGINEER JAL SHAKTI (PHE) DIVISION QAZIGUND

of 2022-23 dated	17/12	2/2022	
DATE:		17-112/2022	
lo Manzoor Ahmad Da	ar R/o Sha	nkerpora	
Cell	No.60052495	72	
2000-000-000	ACCOUNT NO: 0837040100000605		
PAN	PAN: EGMPD6122G		
207-DB of 08/2022	Dated	27/08/2022	
58 of 09-2022	Dated	3/9/2022	
Rupees:- One La Four hundred and	Rupees:- One Lacs twenty Nine thousands Four hundred and forty four only		
	30 Days		
	DATE: /o Manzoor Ahmad Da Cell ACCOUNT PAN 207-DB of 08/2022 58 of 09-2022 Rupees:- One La	DATE: //o Manzoor Ahmad Dar R/o Sha Cell No.60052495 ACCOUNT NO: 083704010 PAN: EGMPD6122 207-DB of 08/2022 Dated 58 of 09-2022 Dated Rupees:- One Lacs twenty Nin Four hundred and forty four on	

Name of Schemes: -Laying and fitting of pipes for water supply scheme Kulamchinar Under JJM)

References:1. Executive Engineer Jal Shakti (PHE) Division Qazigund for PHQ/34 OF 2022-23 Dated:05-11-2022 (Fresh) ISSUED UNDER NO:No: PHQ/CC/4725-39 Date: 05/11/2022

For & on behalf of Lt. Governor of J&K, contract for above noted work is here by fixed with you on your quoted percentage rates, terms & conditions and are reproduced hereunder:-

SI. No.	Description of Work / Item(s)	Qty	Unit	Estd. Rate	Amount
1	Earth work in excavation by manual means in trenches for foundations, drains, pipes, cables etc. (not exceeding 1.5 m in width) and for shafts, wells, cesspits and the like not exceeding 10 sqm on plan, including dressing of sides and ramming of bottoms lift upto 1.5 m, including getting out excavated earth and disposal of surplus excavated earth as directed:				0.00
1.01	All Kinds of soils	77.55	Cum	-436	33811.80
1.02	Oridanary rock	19.44	_Cum	_841.6	16360.70
2	Laying and fitting of G.I. pipes (all classes) complete including cost of pipe spacials; excluding cost of pipes, and Earth work				0.00
2.01	65 mm dia GI Pipes	100	- Mtr	73.05	7305.00
2.02	40 mm dia GI Pipes	-280	- Mtr	40.8	11424.00
2.03	25 mm dia GI pipes	_ 500	- Mtr	_30.65	15325.00
2.04	20 mm dia GI pipes	/ 300	- Mtr	-20.25	6075.00
2.05	15 mm dia GI pipes	300	✓ Mtr	-20.25	6075.00
3	Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundations etc. in layers not exceeding 20 cm in depth, consolidating each deposited layer by ramming and watering, lead upto 50 m and lift upto 1.5 m.	87.47	∠ Cum	—198.7	17380.29

SH ST.

4.0.

	1500	No	10	Provision for installation of house connections to unconnected household including providing and fixing of necessary pipe specials, Earth work at connection and Whatever Necessary.	4
0.00				Carriage of pipes from Divisional store Qazigund upto dumping site of work by mechanical transport avg. lead of 16 KMs including loading, unloading and stacking	5
977.64	313.95	_MT	3.114	comlpete. 65,40,25,20, and 15 mm dia GI Pipes	5.01
0.00				Carriage of pipes material from road site upto actual site of work by manual labour for avg. lead of 500 mtrs.	6
1107.63	355.695	_MT	3.114	65,40,25,20, and 15 mm dia GI Pipes	6.01
6500.00	6500	Job	1	Provision for pipes and pipe specials if found necessary at site shall be paid as per details certified by Engineer incharge	
137342.07					
	Below	5.75%		Total	
129444.90				Quoted Percentage rate	
	and forty fo	hundred	ısands Four	Alloted Cost Rupees:- One Lacs twenty Nine thou	
ur only/	and forty fo	-	sands Four	Rupees:- One Lacs twenty Nine thou	
ur only	Ex. Engineer PHE	1	Tech. Officer	Rupees:- One Lacs twenty Nine thou	
piv. dozgund	Ex. Engineer PHE usands Four	nty Nine tho	Tech. Officer S One Lacs twer	Rupees:- One Lacs twenty Nine thou Head Droftsman Terms & Conditions The cost of work is restricted to Rs:- 129444/=(Conditions)	1
bundred and hundred and condition	eusands Four 22 JK Bank S general terms	nty Nine tho	Tech. Officer Dine Lacs twen 3108849 dtd. released after	The cost of work is restricted to Rs:- 129444/=(Contract to Rs security deposit and shall be set the Contract	2
hundred and hundred and condition (1) appointed es, the quality. The TPIQM's	ex. Engineer PHE busands Four 22 JK Bank S general terms gency (TPIQM by the agencie each scheme. burpose of mo	15-11-202 as per the nonitoring as s executed to installed in ive for the p	Tech. Officer 3 One Lacs twen 3108849 dtd. released after ne third party n quality of works of machinery s Representat	Rupees:- One Lacs twenty Nine thousand Terms & Conditions The cost of work is restricted to Rs:- 129444/=(Control of the Contract The allotted works shall be subject to check by the Department. The agency shall check the contract The allotted works shall be subject to check by the Department. The agency shall check the contract The allotted works shall be subject to check by the Department. The agency shall check the contract The shall be that of an assistant to the Employer's evaluating of the performance of the Contract during th	3
hundred and hundred and condition and condition to the quality. The TPIQM's nitoring and	ex. Engineer PHE busands Four 22 JK Bank S general terms gency (TPIQM by the agencie each scheme. burpose of mo	15-11-202 as per the monitoring as executed to installed in the pact Period installed in the forther pact Period installed	Tech. Officer 3 One Lacs twen 3108849 dtd. released after ne third party n quality of works of machinery s Representations the Contra	The cost of work is restricted to Rs:- 129444/=(Control of the Contract The allotted works shall be subject to check by the Department. The agency shall check the contract of materials used for construction and the quality role shall be that of an assistant to the Employer's evaluating of the performance of the Contract durant Agency must execute the works as per the required relevant/applicable IS code/s	3
hundred and hundred and hundred and condition and condition to a pointed es, the quality. The TPIQM's nitoring and sthrough the hard and soft	ex. Engineer PHE Dusands Four PLE JK Bank S general terms gency (TPIQN by the agencie each scheme. burpose of more etailed in the	15-11-202 as per the nonitoring as s executed to installed in a ive for the pact Period iffications de fications de progress re	Tech. Officer 3 108849 dtd. released after 9 third party naturality of works of machinery is Representative Contractive ments/special contractive	Rupees:- One Lacs twenty Nine thou Head Draftsman Terms & Conditions The cost of work is restricted to Rs:- 129444/=(Control of the Control of the Contract The allotted works shall be subject to check by the Department. The agency shall check the control of materials used for construction and the quality role shall be that of an assistant to the Employer's evaluating of the performance of the Contract during Agency must execute the works as per the requirement.	3

7	No price escalation will be paid for completion of the work within the stipulated time or extended date of completion due to any reasons whatsoever.
8	In case of quantity variation OR required as per the direction of the Engineer in charge , the same has to be executed at site and nothing extra will be paid beyond the overall allotted cost.
9	Retention many / Security deposit shall be 10% of the contract value. The security deposit is to be recovered @ of 10% of bill amount from running account bills and shall be released after completion of the work and recommandation from the concerned Engineer in charge
10	Liquidated damages (LD): In the event of allottee failing, declining, neglecting or delaying the supplies / works or in the event of any damage occurring or being caused by the allottee or in the event of any default or failure by the allottee in complying with any of the terms and conditions of the contract, the Department shall with or without prejudice to any other remedies available to it under any law for the time being enforce in the UT: a) Terminate the contract after 15 days' notice and/or b) Recover the amount of loss caused by damage, failure or default, as may be determined by the department. and/or c) Recover the extra cost, if any, involved in allotting contract to other party and/or
	d)Impose Liquidated damages on account of delay beyond the schedule completion period to the tune of 0.5% of the delayed portion of contract every week but not exceeding 10% value of the contract. and/or e)Forfeit the performance security and blacklist the firm.
11	Adequate precautions be taken for the environment and social protection and all safety practices in vogue be strictly adhered to during the execution of work.
12	No mobilization advance shall be paid.
13	The Agency shall be responsible for the time and proper setting out of all the works and for the correctness of the positions, levels, dimensions and alignment of all parts of the works and for the provision of all necessary instruments, appliances and labour in connection therewith.
14	The Agency shall make his own arrangements for the engagement of all types of the labour, required for the execution of the job. No workman below the age of 18 years shall be employed on the works. Also the bidder shall comply with the provisions of all labour laws and the rules framed there under.
15	The Agency shall at his own cost make arrangements for proper storage, especially towards Rain and Snow damages of the equipment/ materials at sites till its erection/completion. For the purpose, the bidder shall, with the approval of the Engineer in charge construct temporary storage accommodation for equipment/ material at site for which land shall be provided by the department near the site of work.
16	The Agency shall in connection with the work provide and maintain at his own cost all lights, guards, fencing and watching, when and where necessary or required by the Department for the protection of the work or safety and convenience of the Public etc
17	The Agency shall in advance communicate with inchage store keeper,of Divisional Store for lifting of pipe material etc and shall make adquate measures like availablity of transport and labour for easy transportation from store to site against proper receipt / Challan, if required.
	The state of the s

MD

7-0.

X-co

18	As soon as letter of award is communicated to the firm, the contract shall be complete and binding upon them, the Agency/firm shall also be required to execute an agreement with the competent authority within seven days from the date of issue of letter of award. Failure to execute such an agreement in time shall not however, prevent this contract from being enforced against the firm and the date of delivery of the material/completion of works shall be reckoned from the date of issue of the letter of award.
19	All other terms and conditions as laid down in the detailed NIT/SBD/ PWD Form No.25 double /GFR 2017/Manual for procurement of Works 2019 shall remain in force and binding upon the Agency.
20	Any rules/terms and conditions, if not stipulated in the bidding document, shall be strictly dealt in accordance with the relevant rules/guidelines stipulated in the General Finance Rules (GFR 2017) and Manual for procurement of Works 2019 Government of India.
Copy to	the :-
1	Chairman District Jal Jevan Mission (DDC) Anantnag/Kulgam for information.
2	Superintending Engineer Hydraulic Circle Anantnag for information.
3	Assistant Executive Engineer Jal Shakti (PHE) Sub-Division Dooru for information & necessary action. He will ensure the execution of work strictly in accordance with approved proposal/guidelines under JJM. The cost of work should not exceed beyond alloted cost for which he shall be personally responsible.
4	File concerned.

SH 4.

1.00